COMPUTER APPLICATION STD9 VideoAssignment — 12

QL. Fill in the blanks:

I g+ =2*h can also be written as
ii. The result of the expression (1>0) && (0>1) WI|| be :
i, The result of the expression (1<0)||(0==1) && (0<=0) will be

Q2. What will be the result of the following code fragment:
intx=10;
inty=20;
intres=(xX<y)&&(x--+10)>y?x:y;
System.out.printin( res ) ;

Q3. Evaluate:
I intx =3;
y=++y—-Xx++ %4 -x;
System.out.printin( x +“,“+y);

ii. inta=10;
inth=--a+5%8*4/3;
System.out.printin( b );



